1 : THE DOOR MUST BE INSTALLED

WITH EITHER AN ELECTRONIC OPERATOR OR

A LOCKING DEVICE. ALL DOORS W/0O
OPERATOR MUST HAVE LOCK(S) THAT
ENGAGE BOTH TRACKS.

OPTIONAL DSB GLASS WINDOW UTE

(SEE SECTION B-B)

(5) COLUMNS OF INTERMEDIATE STILES

ATTACHED WITH POP RIVETS AND (3)

COLUMNS OF INTERMEDIATE HINGES.

19 GA. CENTER STILES

QPEMING _HEIGHT

18 GA. END STILES

(4) 1/4"x 5/8" SHEET METAL SCREWS

~

-
2 1/4" X
i '(I‘A)PPI!{G SCRE{;: W

3" TALL U—BAR
20 GA. GALV. STEEL
MIN. YIELD STRENGTH :

3

S50KsI

A
o ! ! -2 |
NOTE 2: TEST PERFORMED TO ASTM E330 S - — — — — HINGE DETAIL n —
AND ANSI/DASMA 108—2002 o - L2 3
DESIGN PRESSURE +22.0/-24.5 Z / . 14 GA END HINGE 18_GA. INTERMEDIATE HINGE = N
TEST PRESSURE +33.2/ —36.9 g . | X
(8] = "
. THE DESIGN OF THE SUPPORTING n é : L ! [leses) ! =
STRUCTURAL ELEMENTS SHALL BE THE z 3 " , (OPTIONAL) 1# DENSITY POLYSTYRENE 12 GA. GALV. STEEL TOP ROLLER BRACKET. EACH
RESPONSIBILITY OF THE PROFESSIONAL OF 2 _ 1' | | FOAM INSULATION 1-5/16" THICK — g BRACKET ATTACHED WITH (4) 1/4" X 5/8" SHEET
RECORD FOR THE BUILDING OR STRUCTURE S - : WITH VINYL HAIRCELL BACKER. \ METAL SCREWS.
AND IN ACCORDANCE WITH CURRENT ®
BUILDING CODES FOR THE LOADS LISTED o . ' M ' M - ? _
ON THIS DRAWING. GUIDELINES FOR THE SN : . i 14 GA. GALV. STEEL END HINGE. EACH FASTENED TO
JAMB CONSTRUCTION ARE CONTAINED IN Eofid 2 END STILES W/(4) 1/4" X 5/8 SHEET METAL
e e e < 9 SCREWS & (4) 1/4" X 3/4" SELF TAPPING
TDS—161 AT WWW. L 017 MIN. GALV. STEEL SKIN SCREWS. (SEE HINGE DETAIL)
B Il | | | T
o & A { i i U= )
= 8 : 3" TALL X 20 GA. GALV. STEEL U-BAR
= = 3" x 20 GA. U—BARS N STRUTS PER SECTION. EACH ATTACHED WITH
S A 50 KSI TWO U—BARS (2) 1/4" X 3/4" SELF TAPPING SCREWS
: i | PER SECTION PER STILE LOCATION.
g ¥ | 7 [ i 11 : st
1 l i i 7 i i TONGUE & GROOVE SEE INTERMEDIATE HINGE DETAIL
C OPTIONAL OUTSIDE KEYED LOCK POSMION A [
c -
HORIZONTAL TRACK SUPPORT L L LT *
BY DOOR INSTALLER (T SU) \ INSIDE ELEVATION 13 GA. GALV. STEEL BOTTOM BRACKET
— g ATTACHED WITH (4) 1/4" X 5/8" SELF
STOP MOULDING BY DOOR INSTALLER TO F/ TAPPING SCREWS.
PROVIDE AT LEAST 1/4" OVERLAP
13 GA. GALV. STEEL FLAG BRACKET.
ATTACHED TO TRACK W/1/4" TRACK BOLTS 19 GA. /GENTER STILE %%ggm E])F(’TRUSION & VINYL
Ex AND RIVETS ” /_ :
EACH FASTENED TO WOOD JAMB WITH (3
5/16" X 1-5/8" WOOD LAG SCREWS SECTION A—A
: 2X6 #2 SPRUCE—PINE—FIR JAM ; 18 GA. MIN. GALV. STEEL INTERMEDIATE
TRACK CONFIGURATION # % HINGE FASTENED TO STILE W/(4) EACH FRONT FRAME WITH UV
12 GA. GALV. STEEL TRACK BRACKET . 1/4" X 5/8" SHEET METAL SCREWS. COATING ON OUTSIDE SURFACE
liF—=—— ] 2" GALV. STEEL TRACK Sl Lot o el S U 7/16" LD. ROUND PUSHNUT FASTENER (ONE
i TRACK THICKNESS 0.056" PER ROLLER) EXCEPT BOTTOM ROLLER,
S INSTALLED W/ 1/4" TO 1/2" GAP
o [ ~S ]
" 2" GALV. STEEL TRACK FASTENED TO 12
(4)-2 1/2 X 12GA. GALV. STEEL TRACK GA. GALV. STEEL
l / o BRACKETS PER SIDE TRACK BRACKETS. TRACK ATTACHED TO (SEE HINGE DETAIL)
Tl / NOTE: BRACKET LOCATIONS ARE +3" EACH BRACKET WITH ONE 1/4” X 5/8
BOLT & NUT CR TWC 1/4" DIA. RIVETS. MOLDED INSIDE DSB GLASS
/ - LTE RETAINER
e NOTE: DOUBLE TRACK
LOW HEADROOM IS
T 5 AVAILABLE AS AN OPTION L__ 2'DIA. SHORT STEM,10 BALL STEEL ROLLER SECTION B-—8B

Prof.,am- nc' _ED 1n§.—..ra seaql

providad

cons"mctlor de"mis. AL

149 ’! _emay #205. <
Ccrrc-irfa': TbL .-"U.u

aif
.-ohly for’ \:e.ﬁa.“ct-on of windload

*en.J«_.

JAMB CONFIGURATION

SECTION C—=C

\“\.,\u Wiy,

-, \ &4 .’
| S:.‘\\g:‘:‘,..,..:.“ 9{

Z
3 55 e *QFESSIO b %
L2 SR
i £ s i ¢ Z
£ s i e =
& = S No0.23448 i =
- ) : EE
= Y 4 =

%, [l g}égt;‘“
O c?f\ W2y (o5

f:! :I [l!“\‘

ARATION OF JAMBS BY OTHERS)

1501 Taney Ave

DoorLink Manufacturing Co., Inc.

doorLink

DRAWN BY: GDR

APPROVED BY:

North Kansas City, Missouri 64116
WIND LOAD RATED RESIDENTIAL DOOR
MODEL
510,511,410,411,430,431,450,451,470,471
SIZE DRAWING NO. REV.
187 X 70T RO16A—120
SCALE: N/A 120MPH WR |SHEET 1 OF 1




